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O&J| &td 2l U=
100,0002 #2JH ~+ 123 2,400
OAsHE LAAFAIE 2 3,000
02 s3=gHl 22,400 17,000 5,400
OXIIrs, StE=s S
500,000 x2J4 2% 123 12,000
OAlE=E RAE= 5,000
Og= HA(H=+8) 300,00024*18< 5,400
405 AtatsE = 82,800 0 82,800
01 L ESFISHI 82,800 0 82,800
OJ7 L JIEHE S PY(BAS)
4,600,000& *18= 82,800
HAsHEL = =2lHl X2 30,000 30,000
402 QIZHRH= 0| 30,000 30,000
01 QIZHRHZAII B (XHRITH ) 30,000 30,000
OAHEL =8 22/H] X2
10,000, 0002 *6IH 2 #50% 30,000
s - AEQ FE AFE ] XA 6,000 6,000
402 DIZHXHE0I A 6,000 6,000
01 QIZERHE AR 2 (RHRITH ) 6,000 6,000
OFs - AZQl =& = LIl N
4,000,000& *37H 2=%50f% 6,000
HY2AZH(SAEFE D) 52,416 43,557 8,859
=3l 52,416 43,557 8,859
Jl=23H] 52,416 43,557 8,859
201 er2 3| 34,408 25,717 8,691
01 AtR2telHl 28,175 20,684 7,491
EF==E 3,420
—=&Xl 15,0002 65+ 12& 1,080
— XXl 13,0003 155+ 123 2,340
O=AEXFY
33,0002 x20= A 1200 & 7,920
O=AD| gits 790,000 * 122 9,480
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SN SAE
M HHRAZH|(SLHF M)
Chel: J1=2 &l EER=E)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
OAREE57gH4I 300, 000& » 12 »90% 3,240
O&EJIgdi= 50,0002 128 600
O3JI188)| gU= 50,000& * 128 600
OAIHA U= 42,9003 1238 515
OAtR4A SXIZelbl(=, 1)
200,000 * 122 2,400
02 S3=gl 6,233 5,033 1,200
ozExte FFU 1,796& »150L+ 128 3,233
ozExY SN
600,000& »1CH*22] 1,200
Oosezaz(a=24) 150,000& «12& 1,800
202 04l 3,528 3,360 168
01 =LHA LI 3,528 3,360 168
ORA2Y 240l
20,0002 x21H* 122 *7(f% 3,528
203 BR8] 14,480 14,480
01 J122g R4 5,700 5,700
OstgAHE=RH(42) 5,700
03 A=A R FAIH| 5,000 5,000 0
OstAHE=RH(43) 5,000
04 FAZHLRFEI 3,780 3,780 0
L EL-EEESS
350,000 * 122 «90% 3,780
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